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QUESTION 1

A user wants to ensure that the visualizations in a tabbed Dashboard appear exactly as they were sized and placed,
regardless of the screen size of the device that they are viewed in.

Which template should be used?
A. Canvas

B. Freeform

C. Infographic

D. Single page

Correct Answer: B

Reference: https://www.ibm.com/support/knowledgecenter/en/SS4QC9/
com.ibm.solutions.wa_an_overview.2.0.0.doc/wa_an_templates.html

QUESTION 2

A company would like to distribute reports to users via an email address or a directory entry. How should the burst table
be defined for this to work appropriately?

A. Directory entries must not use the alternate path syntax.

B. The burst table can be an uploaded file and contain as many columns as needed.

C. The burst table must contain three columns (Recipient, Recipient type and Data item) to burst on.

D. The directory entry can use either the alternate path syntax or the internal search path using the CAMID.
Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/SSRL5J_1.0.1/

com.ibm.swg.ba.cognos.ug_cr_rptstd.10.1.1.doc/ c_cr_rptstd_modrep_create_burst_table_in_source_database.html

QUESTION 3

A report author wants to create an Active Report with a chart that is dynamically rendered in the browser based on user
selections.

How can this be accomplished?
A. A legacy chart with client side processing.
B. A legacy chart with server side processing.

C. A Virtualization with client side processing.
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D. A Virtualization with server side processing.

Correct Answer: A

QUESTION 4

A report author needs the label in a List column title to be dynamic.

How can this be implemented with a dynamic value?

A. Pivot the List to a Crosstab.

B. Create a Master detail relationship to the data.

C. Unlock the report and insert a data item into the List column title.

D. Select the List column title and change the Source type to Data item label.

Correct Answer: D

QUESTION 5

A report author created a crosstab as shown below:

Revenue <#Product line#:> <#Product line#:>
<#Region#:> <#12344> <#1234#>
<#Region#> <#12344> <#1234#>

The crosstab report, when run, shows the following data:

r— Camping Golf Mountaineering Qutdoor Personal
Equipment Equipment Equipment Protecton Accessories

Amerizas 481,445,781.04 | 217,262,995.22 | 123,127, 357.88 23,002,647.68 593,696,783.38
J;::fi'ﬂc 421,63%,391.62 | 193,677,873.68 | 107,505,775.01 19,716,018.32 435,800,120.35
Central

Europa 343,645,848.36 | 153,632,833.39 88,051,532.85 17,488,870.77 437,336,485.23
gf:;g:m 180,851,395 88 84,424,3009 | 46,081,102.04 2 346,421.17 | 210,608,208 82
Southern

Europa 161,454,246.13 T77,413,364.7 44 884,.319.08 7,440,328.31 204,231,710

The author wants to split the revenue for each region by year. Where should the year data item be added?

A. Below Region using a horizontal drop zone.
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B. Above Region using a horizontal drop zone.
C. To the left of Region using a vertical drop zone.
D. To the right of Region using a vertical drop zone.

Correct Answer: D
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